FER S4E8A21H

EAM AUVSX

WEFH M —ERE

=g K % B == GR HDCP NET
B TX & 39 44 83 13 70
#E2 JE B 44 43 87 12 15
3 wE —F 51 40 91 15 76
4 =G EE 42 44 86 9 77
5 = 41 44 85 8 77
6 T A 51 42 93 13 80
Ji & EEH 48 49 97 15 82
FHIl K 46 50 96 11 85
9 hFE HEF 54 46 100 14 86
10 Il E— 54 49 103 14 89

EAH BUTX

=g K % B == GR HDCP NET
& xR FHR 47 46 93 19 74
#E KB Z=HMF 43 51 94 20 74
3 BF EX 55 46 101 25 76
4 A EA 52 46 98 21 11
5 —ROIEX 52 46 98 20 78
6 T ERL 52 56 108 30 18
Ji TZH BZ 57 45 102 20 82
A & 56 51 107 25 82
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